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fia'll nolrlcs for the questlotts.

:

Answer o;ng flue q[uestions.

(a) What is priority interrupt technique ?
Explain parallel priority interrupt
technique with the helP of block
diagram. 10

(b) Explain DMA transfer in details with
all relevant block diagram. 10

2. (a) A comPuter uses RAM chiPs.

(t) How many I28 x $ RAM chiPs are
needed to Provide a memory
capacity of 2048 bYtes ?

1.

b

Contd.



.l

(it) How many lines of address bus

must be used to access 2048 bYtes

of memory ? How many of these

lines will be common to all chiPs ?

(iil How many lines must be decoded

for chip select? Specify the size of

the decoders. 10

(b) A two-way set associative cache

memory uses blocks of four words. The

cache can accommodate a total of 2048

words from main memory. The main

memory size is I28Kx 32.

' pertinent
to construct

(t)

3. space-time diagrclm for a six-

pipeline showing the time it
process e-ight tasks.

10

2

(a)

(it)

Draw a
segment

takes to

What is the
memory?

of the cache

10
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(b) The pipeline of figur€, given below, has
the following propagation times : 40ns
for the operands to be read from
memory into registers Rl and R2,45/rs
for the signal to propagate through the
multiplier, sns for the transfer into R3,
and 15ns to add the two numbers into
R5.

0

(it)

(iit)

10
What is the minimum clock cycle
time that can be used ?
A nonpipeline system can perform
the same operation by removing
R3 and R4. How long will it take
to multiply and add the operands
without -u-sing the pipeline ?
Calculate the speedup of pipeline
for 10 tasks and again for 100
tasks.

(iu) What is the morimum speed up
that can be achieved ?

b

3

Multiplier

Adder
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(b)

Explain Booth's multiPlication
algorithm with the help of block

diagram and a suitable examPle'
10

Represent the following number using

IEEE 754 floating point number format.

(for g2 bit single format and 64 bit

double format)

(t) - 0'75

(it 0.00000045.

10

5. (a), Explain various types of addressing

modes employed in general purpose

computer with examPle. 10

What is meant by locality of reference

in memory sYstern ? 4

Explain the components of a basic

computer architecture. 6

Explain the function of a memory

management unit in a typical computer.
10
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(b) A ROM chip of IO24 x 8 bits has four
select inputs and operates from a Suolt
power supply. How many pins are
needed for the IC package ? Draw a
block diagram and label all input and
output terminals in the ROM.

10

7. Write short notes on :

(a) RISC

(b) Bus

(c) Virtual Memory
I

(d.) Daisy Chaining priority.

20

t
L
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